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Fifth Semester B.E. Degree Examination, July/August 2021

Operations Management
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Note: Ansr+,er ury FIVE full questiotrs. 
,.,1

!\/hat do you understand by the tenn Opcrations Managcrncnt? Tracc thc historical events
leadir:rg to sturdy of operation utallagertrent. (07 N'larks)

Explairr productivity. State the fbctors aftecting productivitv. (05 N{arks)

A company has an order for a particular cornponent is 100"000 units. Tl:,r-'re are two alternate
Ilrirltu(tii LU tllallutugtul(j ul{i pt't}uugt. I ilL: uctallS ol varlolls costs ial-c gl\cn
lnve:stnrent details A I}
(

(

(

(

Investnlent on Machinery & Iluilding
) Other Fixed & prodr-rction or,'erlreads
i) Variabie production costlurrit
,) Vadable selling expcnscs/unit

Rs.60,00,000
Rs.3.00,000
Rs.l25
Rs.5

Rs.80.00.(){}(i
Its.2.0t).(l(i0
Rs.l | 5
R"s.1-i

Selline price/r-urit Rs.2ltO

(i) Which altenrative is econonric;il'l
(ii) Estiirrate the loss of selecting wrong alternative.

Erplain the concept of-production system with a schematic diagrarn,

tirods t hcturc tlrc nrocluet. Thc dctuils of

2a.
b
L.

Sketcli and explain the BEP analysis. Explain how it helps in decision analysis. (05 Marks)
A milk factory seeks advice ooirceming its business and production proccsses. The final
repott dcsc tbllc,wins are the details:rilres several stens to increase nroductiviw. Accordin

Existing sy1!em

1000 gallons
Proposed system

1400 sallonsMilk outnut/hcur
Wase rateihour Rs.12 Rs.l2
Filtration costlhour Rs.120 Rs.l70

,"N or\ers \2 9
{i) Calculate labor productivity fbr both systerns.

{ii) Find All Factor (AFP) fbr both systems.

Whaf Forecasting'l Expiain an'/ trvo teclrniques.
Explairr any two Forccast Emors.
The manager of a road imnsport cornpany believes that the clernand firr tyrcs qscd on his
trucks is clcsely related to the nuntberof kilometers driven. Accordinqlv thc lollowing data

st/ ths collectedc( Itng ilast / nton c()ilec
Dulafion z J r+ 5 6 1

Knrs driven in 1t)00 120 135 r30 150 t70 t90 22t|
No. of tyres used 9.5 I 1.0 12.0 t2.5 14.0 16.0 t8.0

(i) Conipute the coelficients a and b for fhc regression line.
(ii) Suppose the tnanager pans to drive 250000 kms. what is the crpecfcd number ol'tyres

which ivill be used? (08 Marks)
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h

a. What is cocfficicnt o{'correlation? Explain tracking signal with a graph.
b. What are.the Time Series Components'l Explain the processing steps in

linritations.
Irxplain thc diflbrence between
5 months.

MA and EMA. Find the Weiqhted Moving Averase of 3 and

Nlontlts | .lan Feb Mar Apr May Jun Jul
Bottlc' I l3l5 r 353 r305 t275 1210 I l9s

(03 Nlarl<s)

a. What alc the various types of capacity'i Explain the irnportance of capacity planning
(06 Marks)
(06 l\'Iall<s)

A rnetal ptocessing finn wislres to install enough autornobile molders to produce 250000
good castings per year. The molding riperations takes 1.5 minutes per casting. but output is

typicall5i about 394 defective. How rnany rnolders wili be recluired if each onL€ is a.vailable
fbr 2000 hours (of capacity) per year? (08 Martis)

List ttre various tactors influencing plant location. Explain. (06 Martis)
ilxplain thc various capacity measures. What are the capacity strategies? (06l\{ar}is)
ln a srnall factory tr.vo alternate layouts are to handic tiic lbllowting *'ork load/vyeek. Find the
sLritable oplion anrl optirnuln cost. (01Marl<s)

LagovS"

**
r3#Ifl

t9J

Ior the product fbr the next six r.veeksSI

'fvpes of Dernand Week

'l2l3l4ljl6Custourcr tilrccast & ordcrs 700 I 200 70t) 500 400 r 200
Warehouses t0i) 100 400 ,s00 200 r00
ir'larkct Rcscarch 50 l0
Production lLesearch l0

-fhe plant starts with Begiririing Inventory erf 1500 units. the safery stock requirement of
cach u'cek is 500 units and thc rninimum production. Lot size is 2000 units. Prepirre a r;i;:
ll,'c'ck dctailcd nrastcr producfion schcclule. Also Availablc-To-Promis,-- for next 7'h week.

(0 B i\{arl<s)

F.xplain any two types of layout.

ForL l-"A Ptc uoe lL''
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^

A manulhcturing plant is in the process
produces a product on a produce-to-stock

of updating its MPS fbr
basis. Table belor,v shorvs

(06 Mali<s)
forecas:.ing and

(06 Marl<s)

(06 Marl<s.t

difTerence betvreen r\P
(06 Marhs)

its products. T:le plzurt
the estimates of demand

A
g

r^\

gt7.:u,"futt 
"k?-o{3?oi.r---f-"]I rl'l\lffi

* 1 ,_l-y,*"
"o {,'l I,\l

d.

b.

Lr.

What is Aggregaie Planning'l Explain its strategies.
What arc the Functions of Master Production Schedulel State the
and MPS.

( X- Xol"cd rloY€rrvilt
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Explain the Master Production Schedule with a diagram. \
What are the obiectives and stratesies of MPS?
Given the following inforrnation. set the aggregate planning problcnr as

problem and find the solution using least cost rnethod.
Forecast deffl&n{ and production canacit

Period Available capacity units l)emand Forecast units
RT OT SG

500 50 120 520
2 500 50 120 7?{)
a
J s00 50 100 7s0

lnitial lnventory 100 units. Final Inventory:100 units, lnventory Canying
Cost: Rs.liunitlperiod. Back ordering.is not pennitted. (08 Marks)

!l a. What are the objectives of MRP? Explain the input and outputs of MRP Jrackage. (06 Marks)
b. Explain the key fbatures of MRP systern. (06 Marks)
c. A company makes Q rnodel from components R. S ancl T. Conrporrl'nt R is made from

2 units of component X and I unit of component Y. Cornponen_t T is nrede from I unit of
componenflY and 3 urrits of component Z.
(i) D:aw the product strucfure tree for Q.
(ii) A.ctually company plans to buiid 100 units of Q. and having inventory of 150 units of

T and 200 units of R. Find the gross and net requirements of T" R :ind S. (08 Marks)

a.

b.

18ME56

(06 Marks)
(06 Marks)

transportation

(06 Marks)
(08 Marks)
(06 Marks)

10 a. Define supply chain. What are the key decisions in supply chain'l
b. Explain a typical supply clrain system rvith a blank diagram.
c. Explain Bullwhip eflbct. What are the root causes frrr bullu'hip eflbcti
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